[image: image1.jpg]



[image: image2.jpg]


[image: image3.jpg]


[image: image4.jpg]



[image: image5.jpg]



[image: image6.jpg]


[image: image7.jpg]



[image: image8.jpg]


[image: image9.jpg]



[image: image10.jpg]


[image: image11.jpg]


[image: image12.jpg]


[image: image13.jpg]



[image: image14.jpg]


[image: image15.jpg]



[image: image16.jpg]


[image: image17.jpg]



[image: image18.jpg]


[image: image19.jpg]



[image: image20.jpg]


[image: image21.jpg]



[image: image22.jpg]


[image: image23.jpg]



[image: image24.jpg]


[image: image25.jpg]



[image: image26.jpg]


[image: image27.jpg]



[image: image28.jpg]



[image: image29.jpg]



[image: image30.jpg]


[image: image31.jpg]



[image: image32.jpg]


[image: image33.jpg]



[image: image34.jpg]


[image: image35.jpg]



[image: image36.jpg]


[image: image37.jpg]



[image: image38.jpg]


[image: image39.jpg]


[image: image40.jpg]


[image: image41.jpg]



[image: image42.jpg]



[image: image43.jpg]


[image: image44.jpg]


[image: image45.jpg]



[image: image46.jpg]



[image: image47.jpg]


[image: image48.jpg]



[image: image49.jpg]



[image: image50.jpg]



[image: image51.jpg]


[image: image52.jpg]



[image: image53.jpg]


[image: image54.jpg]



[image: image55.jpg]


[image: image56.jpg]



[image: image57.jpg]



[image: image58.jpg]



[image: image59.jpg]


[image: image60.jpg]



[image: image61.jpg]



[image: image62.jpg]


[image: image63.jpg]



[image: image64.jpg]



[image: image65.jpg]



[image: image66.jpg]


[image: image67.jpg]



[image: image68.jpg]


[image: image69.jpg]



[image: image70.jpg]



[image: image71.jpg]



[image: image72.jpg]


[image: image73.jpg]



[image: image74.jpg]


[image: image75.jpg]



[image: image76.jpg]



[image: image77.jpg]


[image: image78.jpg]


[image: image79.jpg]



[image: image80.jpg]


[image: image81.jpg]


[image: image82.jpg]



[image: image83.jpg]



[image: image84.jpg]


[image: image85.jpg]


[image: image86.jpg]


[image: image87.jpg]


[image: image88.jpg]



[image: image89.jpg]


[image: image90.jpg]



[image: image91.jpg]


[image: image92.jpg]



[image: image93.jpg]


[image: image94.jpg]


[image: image95.jpg]



[image: image96.jpg]



[image: image97.jpg]


[image: image98.jpg]



[image: image99.jpg]



[image: image100.jpg]


[image: image101.jpg]



[image: image102.jpg]



[image: image103.jpg]



[image: image104.jpg]


[image: image105.jpg]


[image: image106.jpg]



[image: image107.jpg]



[image: image108.jpg]



[image: image109.jpg]


[image: image110.jpg]



[image: image111.jpg]


[image: image112.jpg]



[image: image113.jpg]



[image: image114.jpg]


[image: image115.jpg]


[image: image116.jpg]



[image: image117.jpg]



[image: image118.jpg]



[image: image119.jpg]


[image: image120.jpg]



[image: image121.jpg]



[image: image122.jpg]



[image: image123.jpg]


[image: image124.jpg]



[image: image125.jpg]


[image: image126.jpg]


[image: image127.jpg]


[image: image128.jpg]



[image: image129.jpg]


[image: image130.jpg]



[image: image131.jpg]


[image: image132.jpg]



[image: image133.jpg]



[image: image134.jpg]


[image: image135.jpg]


[image: image136.jpg]


[image: image137.jpg]



[image: image138.jpg]


[image: image139.jpg]



[image: image140.jpg]


[image: image141.jpg]



[image: image142.jpg]


[image: image143.jpg].
\_ AT

22




[image: image144.jpg]


[image: image145.jpg]



[image: image146.jpg]


[image: image147.jpg]



[image: image148.jpg]



[image: image149.jpg]


[image: image150.jpg]



[image: image151.jpg]



[image: image152.jpg]



[image: image153.jpg]



[image: image154.jpg]


[image: image155.jpg]



[image: image156.jpg]


[image: image157.jpg]



[image: image158.jpg]


[image: image159.jpg]



[image: image160.jpg]


[image: image161.jpg]



[image: image162.jpg]


[image: image163.jpg]


[image: image164.jpg]


[image: image165.jpg]



[image: image166.jpg]


[image: image167.jpg]


[image: image168.jpg]


[image: image169.jpg]



[image: image170.jpg]


[image: image171.jpg]



[image: image172.jpg]

















































































































Bridgepoint Parts Catalog 	 	


Section XVI: Tile Cleaning Tool Parts					Page 1





100010


			Valve – Plastic Spray Gun


SX-12


			Also used on AS08 & AS08R


			Repair Parts:


			Old Valve: 		NA031


			Old Rebuild Kit: 		NA031A


			New Valve: 		NA033


			New Rebuild Kit: 	NA033A


(Holes must be drilled through Plastic Gun body to mount Spray Gun on SX-12 Handle Assembly.)








�





AH102B


			1/4” Male Quick Connect


			Brass - Hydro-Force Brand








�





�





NA0802


			Filter Body








�





NA0803


			Filter Screen








�





			NA031B	


			Plastic Gun Body Only


			Handle for SX-12


(Holes must be drilled through Plastic Gun body to mount Spray Gun on Handle Assembly.)








�





NA0804


			Filter Adapter








BR282


Elbow 90( 1/4” Street F-M


Brass		





			





�





NA032


			Valve – Plastic Spray Gun


SX-7, Gekko Hand Tool &


 Mini Turbo


			Repair Parts:


			Valve: NA0847


Rebuild Kit: NA31A	








�





�





BR272


Elbow 45( 1/4” Street F-M


Brass		





			





BR260


Elbow 90( 1/4” Flare x 1/4” MPT


Brass		








�





�





			NX101


			Swivel 1/4” Inlet x 3/8” Outlet


			90˚ Inlet 


			Repair kit: PM036903





			NX100


			Swivel 1/4” Inlet x 3/8” Outlet


			Repair kit: PM036903





�





�





			NX102


			Tee Bar 10” SS w/ Elbows


			3/8” FPT Inlet 


2 - 1/8” FPT Outlets


			





BR208


Bushing 3/8” MPT X 1/4”FPT 


 Face - Brass		








�





�





BR082


Nipple1/4” Close - Brass


	








�





			NX104


			Tee Bar 6.5” SS w/ Elbows


			3/8” FPT Inlet 


2 - 1/8” FPT Outlets





			





�





			NM4082


			Handle Assembly SS – SX-12





			SX-12 Decal: 	NM4091





�





			B632


			VeeJet 1/8” MEG 0502 SS





�





�





			NM5005


			Barb 1.5” x 1.5” MPT PVC


			Sx-7 Hand Tool





			NM4094


			Vac Fitting SX-7 Gekko Tool	





Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 2








�





			AB50	


			Skirt Brush Assembly


			SX-12 Head


			





			NM4089


			Solution Hose SX-12


			3/16” x 48” 3000psi


			1/4” MPT x 1/4FT flare swivel


			





�





			AB52	


			Skirt Brush Assembly


			SX-7 Head


			





�





			NM4083


			Vac Hose 1” x 9” Black


			SX-12








�





			AW104HB	


Kit Hard Boot w/Gasket & Screws


			SX-12 Head





�





�





			PP09-805089


			Hose 1-1/4” x 10’ Blue 


			SX-7





			





Vac Hose 1-1/4” Blue – Sold per foot: AH35B


 			





	 





			NM4090


			Head – SX-12 Roto Molded








�





�





			NM4092


			Head – SX-7 Roto Molded


			2 piece assembly





			PP08-805088


			Hose Cuff 1-1/2” x 1-1/4”


			1-1/2” Tool x 1-1/4” Vac Hose


	 





�





�





�





			NM4093


			Decal – SX-7


	 





			PMV007


			Vac Relief – Slide Assembly


			Screw, Slide & Spring





For new style HyDry Tools (AW50A & AW51A) and HyDry Deluxe Tools (AW50D & AW51D) & SX-12 (AW104)





�





�





			NM4099


			Vac & Solution Hose Assy SX-7


1-1/4” x 10’ Blue Vac hose with cuffs & 3/16” x 10-1/2’ HP Solution Hose





�





			NM4086


			Vac Relief Ring








			NM4098


			Vac & Solution Hose Assy 


			Gekko Hand Tool


1-1/4” x 10’ Gray Vac hose with cuffs & 3/16” x 10-1/2’ HP Solution Hose








�





�





			NM4080


			Screw 10-32 x 1-1/2” SS


			Socket Head





�





 NM4081


			Nylock Nut 10-32 SS











			NM4087


			Screw 1/4-20 x 1/2” SS


			Socket Head





�





�





 NM4085


			Nylock Nut 3/8-16 SS











�





			NM4029


			Screw #4 x 3/4” SS


			Sheet Metal FHDP








			NM4084


			Screw 3/8-16 x 1-1/2” SS


			Socket Head





�





100010


			Valve – Plastic Spray Gun


Gekko Tool AR54 & AR54A


			Also used on AS08 & AS08R


			Repair Parts:


			Old Valve: 		NA031


			Old Rebuild Kit: 		NA031A


			New Valve:		NA033


New Rebuild Kit:		NA033A


(Holes must be drilled through Plastic Gun body to mount Spray Gun on Gekko Tool.)








�





�





AH102B


			1/4” Male Quick Connect 


Brass – Hydro-Force Brand








Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 3








�





NA0802


			Filter Body








�





NA0803


			Filter Screen








			NA025


			Manifold – 14” Tool 4 Jets


			Brush or Squeegee Head








�





NA0804


			Filter Adapter - Brass








�





			NA025A


			Manifold – 14” Tool 2 Jets


			Brush or Squeegee Head








�





�





�





BR192


Bushing 3/8” MPT x 1/4” FPT


			Brass





			





AW17


			Boot – Gekko Tool	








�





�





			100005


1/8” Male Quick Connect  1/8”FPT – Flo-Thru - Brass





 			BR072


			1/4” Hex Nipple - Brass





AW32


			Wedge Boot – Gekko Tool	


			Plastic Slide: AW32A





�





�





NA034


1/8” Female Quick Connect 1/8”FPT – Flo-Thru - Brass








�





			PU001


			Nut Coupling S Wand - Gekko


			





PU646


			Bumper – Squeegee Head


			





�





			 PU002


			Split Ring – Brass - Gekko





�





			AX10B


			Squeegee Blades - 4pc Set


			





�





			AW91


			Adapter - Gekko Tool





			











			AR54B


			Brush – Gekko Tool 14”








�





�





�





			BR218


			Plug 1/8”MPT SOCHD Brass








�





�





			B340


			Jet – Squeegee & Brush Head


			VeeJet – H1/8VV11001SS


			(Requires four jets)





			BR270


			Elbow 45° 1/8” Street F-M


			Brass





�





			NA023


			Spacer Jet Mount Gekko Head











�





			B630


			Jet – Gekko Tool


VeeJet – 1/8” MEG SS 1502


			








Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 4








			NM4077


			Hose Assembly 37”


			Gekko Tool








			NM4076


			Hose Assembly 3.5” - Gekko


			(Does not include quick connect)





�





�





�





			AR54H


			Head – Gekko Tool


			14” Brush





			NM4078


			Hose Assembly 41”


			Old Style Gekko Tool








�





			AR54D


			Head – Gekko Tool


			5” Original Head


			


		








�





�





			AR54E


			Head – Gekko Tool


			14” Squeegee











AX138


			VeeJet Wrench – T-handle


			For 1/8” VeeJet on Gekko Tool





�





AR54A


Wand & Valve Assembly


Gekko Tool - Without Head


			











�





BR280


			Elbow 90( 1/8” M-F Brass


			





�





BR268


			Elbow 45( 1/8” F-F Brass


			





�





			AR54C


			Edge / Corner Head 


			Gekko Tool


			





�





�





			BR080


			Nipple 1/8” Close - Brass





			AR54G


			SX-7 Head for Gekko Tool





�





�





			BR175


			Adapter 1/8” F-M - Brass	








�





			AH35


			Vacuum Hose 1-1/4” Gray


			Sold per foot





�





			NA044


			Adapter 1/8” MPT X 1/4” Comp








�





�





			NA027A


			Gekko 14” Squeegee Head 


			Machined Aluminum








			NM3044


			Tee 1/8” Branch F-M-F Brass





			





�





			NA022


			SS Tubing – S Bend 


			Gekko 14” Head








			NA026A


			Gekko 14” Brush Head 


			Machined Aluminum











�





Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 5








100009


			1/4” Male Quick Connect 








�





�





NA010


			1/4” Male Quick Connect 


Stainless Steel








NA0802


			Filter Body








�





�





			PT5


			Spray Bar – Turbo Tool











NA0803


			Filter Screen








�





�





NX100


			Swivel – Turbo Tool


			Top Port – Turbo & Mini-Turbo


			Repair Kit: PM036903








NA0804


			Filter Adapter








�





�





			B632


			Jet – Turbo Tool & Mini Turbo


VeeJet – 1/8” MEG SS 0502


			 (Requires two jets)








�





 			BR072


			1/4” Hex Nipple - Brass





�





BR192


Bushing 3/8” MPT x 1/4” FPT


			Brass





			





�





		    	PT11


			Valve – Plastic Spray Gun


			Turbo Tool AW42


4000psi 10gpm


			


Rebuild Kit: PT11A





BR282


Elbow 90( 1/4” Street F-M


Brass		





			





�





�





			PT13 (DISCONTINUED)


			Upper Vac Hose & Elbow


			Turbo Tool





�





BR260


Elbow 90( 1/4” Flare x 1/4”MPT


Brass		








�





PT14 (DISCONTINUED)


Lower Vac Hose 			Turbo Tool











DISCONTINUED











NA024


			Valve Hanger – Set 


Gekko Tool – Old Style











�





PT20 (DISCONTINUED)


Hose Assembly - HP			Turbo Tool











			AR50B


			Brush – Cobra Hand Tool


			(DISCONTINUED)














�





			PT25 (DISCONTINUED)


			Deck – Turbo Tool


			











PT10 (DISCONTINUED)


			Vac Relief – Turbo Tool


			Deck Mounted








�





�





PT26


			Boot – Turbo Tool	











			PT24 (DISCONTINUED)


			Handle – Turbo Tool


			Steel – Powder Coated








			AW54


			Vac Relief – Turbo Tool


Inline





�











�





			NM5774


			Handle SS - SX-15


			Decal: NM5602








			NX105


			Swivel with Flange SX-15





Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 6








�





			NX115


			Tee Bar 13” SS w/ Elbows


			3/8” FPT Inlet 


2 - 1/8” FPT Outlets – SX-15


 


SX-15








�





			NM5772


			Hard Boot - SX-15








�





�





B632


			VeeJet 1/8” MEG 0502 SS








�





			AB53


			Brush Ring - SX-15








�





			NM5763


			Outer Shell Blue - SX-15


			Decal: NM5600


			Clear: NM5763-CLR





�





			100010


			Spray Gun - SX-15


			Repair Parts:


			New Valve: NA033


			Repair Kit: NA033A


			Plastic Body: NA031B





			NM5761


			Inner Shell Blue - SX-15


			


Clear: NM5761-CLR








�





�





			NM5726


			Vac Hose 2” - SX-15


			Sold per inch





�





			NM5765


			Vac Relief Ring - SX-15








�





			PA051


			 Hose Clamp - SX-15


			





�





			NM5768


			Swell Latch - SX-15








�





			NM5770


			 Bronze Bushing - SX-15


			Handle Mount


			





�





			NM5784


			Retaining Nut – Rectangular


SX-15








�





			NM5780


			 Screw 3/8-16 x 2” SOC HD SS


SX-15 Handle Mount


			





�





			NM4080


			 Screw 10-32 x 1-5/8” SS


			Button Head Socket 


SX-15 Spray Gun Mount


			





�





			NM4085


			 Nut 3/8-16 SS Nylock


SX-15 Handle Mount


			





�





�





			NM4081


			Nut 10-32 SS Nylock


SX-15 Spray Gun Mount








			PA189


			 Washer 3/8-16 Flat SS


SX-15 Handle Mount


			





Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 7








AH102B


			1/4” Male Quick Connect 


Brass





			 





			NM4088


			Solution Hose - SX-15


			3/16” x 50” 3000psi


1/4” MPT x 1/8” MPT


			











�





NA0802


			Filter Body





			 





�





�





NA034


1/8” Female Quick Connect 1/8”FPT – Flo-Thru - Brass


			





NA0803


			Filter Screen





			 





�





PKLF01


1/8” Male Quick Connect 1/8”MPT – Flo-Thru - Brass








�





NA0804


			Filter Adapter





			 





�





BR272


Elbow 45( 1/4” Street F-M


Brass		





			 





�





			NM5766


			 Screw 1/4-20 x 1/2” PHP SS


			SX-15 Swivel Mount








�





�





BR282


Elbow 90( 1/4” Street F-M


Brass		








			AW105REP


			SX-15 Upgrade Kit


			Kit Includes:


			Outer Shell: 	NM5763


			Inner Shell: 	NM5761


			Vac Relief Ring: 	NM5765


			Brush Ring: 	AB53		


			Handle Bushing:	NM5770


			Decal:		NM5600








			NM5778


			 Grommet - SX-15 Handle 














�





�





			NM5776


			 End Cap - SX-15 Handle























			





Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 8








AW17A


			Gekko 5” Hard Boot


			New Style Gekko Tool








NA021


			Gekko Head 5”


			New Style Gekko Tool











�





�





















































AW17C


			Gekko Edge & Coving Boot


			New Style Gekko Tool








NA021A


			Gekko Head 14”


			New Style Gekko Tool








AW17D


			Gekko Edge & Coving Slide


			New Style Gekko Tool








AR51B


			Gekko Brush Attachment 14”


			New Style Gekko Tool








AR51SQ


			Gekko Squeegee Attachment 			14” New Style Gekko Tool








NM5854


			Gekko Handle Solution Hose


			New Style Gekko Tool








BR219


			Plug 1/4” MPT SOC HD Brass


			New Style Gekko Tool








B630


			1502 MEG VeeJet 1/8” SS


			New Style Gekko Tool








B340


			11001 VeeJet 1/8” SS


			New Style Gekko Tool








NM5856


			Gekko Head Solution Hose


			New Style Gekko Tool








�

















NA030A


			Vent Slide Gekko Handle 


			New Style Gekko Tool








�





AH102B


			Quick Connect 1/4” Male








NA030


			Handle Assembly


			New Style Gekko Tool








�





�





B634


			5003 MEG VeeJet 1/8” SS


			New Style Gekko Tool











�





NM5852


			Screw 4-40 x 0.3125 PPH SS


			New Style Gekko Tool








NM4081


			Nut 10-32 Nylock SS


			New Style Gekko Tool








NM5853


			Screw 8-32 x 7/16” PPH SS


			New Style Gekko Tool








�





�





NM4080


			 Screw 10-32 x 1-5/8” SS


			Button Head Socket 


Gekko Spray Gun Mount








100010


			Valve – Plastic Spray Gun


New Style Gekko Tool 


			


			Repair Parts:


			Old Valve: 		NA031


			Old Rebuild Kit: 		NA031A


			New Valve:		NA033


New Rebuild Kit:		NA033A


(Holes must be drilled through Plastic Gun body to mount Spray Gun on Gekko Tool Handle.)








�





�





AH102B


			1/4” Male Quick Connect 


Brass – Hydro-Force Brand








Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 9








�





NA0802


			Filter Body








�





NA0803


			Filter Screen








NA038


2” Shrink Tubing 


Sold per inch	





			 





�





NA0804


			Filter Adapter - Brass








�





NX108


			Swivel


			New Style SX-7





			 





NA033


			Valve - Brass


			New Style SX-7





			 





NM5638


			Spring 


			New Style SX-7





			 





NM5637


			Trigger Lock Pin


			New Style SX-7





			 





NM5636


			Trigger Assembly


			New Style SX-7





			 





NM5634


			Vent Ring


			New Style SX-7





			 





NM5632


			Outer Shell – Right Assembly


			New Style SX-7





			 





NM5631


			Outer Shell – Left Assembly


			New Style SX-7





			 





NM5630A


			Seal - Inner Shell


			New Style SX-7





			 





NM5630


			Inner Shell – Brush Assembly


			New Style SX-7





			 





�





BR272


Elbow 45( 1/4” Street F-M


Brass		





			 





�





AH101B


			1/4” Female Quick Connect 


Brass – Hydro-Force Brand








�



























































Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 10








AH102B


			1/4” Male Quick Connect 


Brass – Hydro-Force Brand





			 





BR304


			Compression Fitting 1/4” 


1/8” MPT


			New Style SX-7





			 





BR305


			Compression Fitting 1/4” 


			1/8” FPT 


New Style SX-7





			 





BR302


			Compression Fitting 1/4” 


1/4” MPT


			New Style SX-7





			 





NM5644


			Rotary Washer 


			New Style SX-7





			 





NM5645


			Rotary Washer with PEM Nuts


			New Style SX-7





			 





NM5649


			Bent Flow Tube – Back SS


			New Style SX-7





			 





NM5648


			Bent Flow Tube – Front SS


			New Style SX-7





			 





�





�





�





�





NX107


			Weldment Spray Bar 


New Style SX-7





			 





B636


			6501 MEG VeeJet 1/8” SS


			New Style SX-7











B632


			0502 MEG VeeJet 1/8” SS


			New Style SX-7











�





�





�





NM5633


			Label


			New Style SX-7











AH180


			Hose Assembly


			New Style SX-7











NM5642


			Screw 10-32 x .625” PPH SS


			New Style SX-7











PA187


			Screw #10 x 5/8” Sheet Metal


			PPH SS


			New Style SX-7











�





AH35B


			Vac Hose 1-1/4” Blue


			New Style SX-7











PP08-805088


			Hose Cuff 1-1/2” 


for 1-1/4” Hose


			New Style SX-7





















































�





�





�





AH101B


			1/4” Female Quick Connect 


Brass – Hydro-Force Brand








NA038


2” Shrink Tubing 


Sold per inch	





			 





�





�





AH102B


			1/4” Male Quick Connect 


Brass – Hydro-Force Brand








Bridgepoint Parts Catalog 


Section XVI: Tile Cleaning Tool Parts					Page 11








			NA40A


			Hose HP 3/16” - Black


			Sold per inch





�





NA0802


			Filter Body








�





�





NA0803


			Filter Screen








			AH02


			Hose End – 1/4” Male


			For 3/16” Hose (NA40A)








�





NA0804


			Filter Adapter - Brass








�










































































